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SRYUANS LAY (2T A) 21,110,000 21,110,000
MZF2ARKI 2 AL (E1 T 1) 6,500,000 13,000,000
NEIENNEINESIESIED) 6,500,000 13,000,000
SAADTRS A (2S ) 10,000,000 20,000,000
ASESAHNRAY (H2E) 39,000,000 39,000,000

HeooimLol e SESSAHNRAY (L) 39,000,000 39,000,000
SESSA N AY(HIIE) 52,000,000 39,000,000
HEESAUNRAY (LESR) 52,000,000 36,000,000
2RO AEY AL (HTHA) 36,000,000 13,000,000
ATADTXIH A (0127) 17,680,000 17,680,000
SESSAUNRA (2N 51,117,842 39,000,000
g 330,907,842 289,790,000
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SE XA (Z2o)a2H FAA

(AL == R )

- . rSpIE=
=4 FH==0L 215t g1z A J| & oH | o S| 2 Jtak 2| ZOtal 2 H o
T =
JIAH DI+ 94,030, 190 - 94,030, 190 92,609,245 1,392,102 94,001,347
= 32,954,000 - 32,954,000 32,948,000 - 32,948,000
126,984,190 - 126,984, 190 125,557,245 1,392,102 126,949, 347
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